BEACH TOWER BASIC
g S
BEACH TOWER SWING /

BEACH TOWER DOUBLE SWING

Climbing Tower / Spielturm / Klimtoren / Tour de jeux / Parque infantil / Torretta giochia

J

-

—
7

L
( 9

=

USER MANUAL iy
Keep instructions for later use '@) Read these instructions carefully before use.
GEBRAUCHSANWEISUNG @

Anleitung zum spédteren Gebrauch aufbewahren

A gEPaIg!NG HAZARD
GEBRUIKSHANDLEIDING

Handleiding bewaren voor later gebruik

MOD E D’EM P LOI A ;"’\"E:DOJL'TS.TO BE ASSEMBLED BY

Conserver la notice pour usage ultérieur

MANUAL DE USUARIO WARNING

X Potential hazard description, e.g. In
Guardar estas Instrucciones para su uso future unassembled state contain potentially
hazardous sharp points, so please

INSTRUZIONE PER L'USO eep out f baby' rech

Conservare l'istruzioni per uso successivo

AN

=@

Let’s Play




BEACH TOWER BASIC
g S
BEACH TOWER SWING /

BEACH TOWER DOUBLE SWING

Climbing Tower / Spielturm / Klimtoren / Tour de jeux / Parque infantil / Torretta giochia

Beach Tower Basic
Pages 8-13

Beach Tower Swing
Pages 8-15

Beach Tower Double Swing
Pages8-13and 16-17

Let’s Play




BEACH TOWER COMPONENTS AL

050.016.00 S~

1. BEACH TOWER BASIC COMPONENTS

PAKKET C050.013.00
1 | | 4
-
2X ix ) |
PAKKET C050.014.00
5 | 7
////Mi/////:j T ,,,,,,,, - ‘ ~ ]
///f/f/ { } }
W /‘/ﬁ ‘
2X | 2X

Let’s Play




2X 1x

T

o m)))l!n)w" %»nmm)mw"' »,,,mllmmnw—' wmmn

6 x screw (3x25) 10 x screw (3,5x35)  8x screw (3,5x40) 24 x screw (3,5x45) 34 x screw (3,5x50)

F G J K L

- T N
-))l)l)))))))l)))m‘“ @,,—)mmmm)mm ] (= )

26 x screw (4x60) 36 x screw (5x90) 8 xring (M8) 4 x nut (M8) 4 x bolt (M8x60)

Let’s Play




PAKKET C050.015.00
13 14 15
/// \ . ,//////:U
'é - B /////Z: // —
T
2X 3x 2X
16 17 18 19

Let’s Play




€050.017.00 + €050.018.00

BEACH TOWER SWING COMPONENTS @\@E@

PAKKET A030.146.00

22 23 24 26
)
\ //
/ /
// _—

1x 1x 1x 1x
I J F
M8x90 M8 4x60

/ é’*—S \\\ T
@ Z Al
& . / Y
3x 6X 20x
PAKKET A030.147.00
27 28 29

$

L 7

4x 2X

1x

Let’s Play




PAKKET A030.148.00

27 28 30

2X 2X 1x

31 I J K

M8x90 M8

“‘\“Em\\}b \/ . \\\
— JDJ \ —
(\E \\\tw///

g

2X 4x 2X

Let’s Play




BEACH TOWERS =

€050.016.00 + €050.017.00 + €050.018.00 @@U

2. ASSEMBLY

1-x1
2-x1
6 - x1
14 - x1
15 -x1
G -x10

\\2 | 14; \

13-x2

Let’s Play




G- xa

5.y
F-x8

Let's Fiay

3.2
4.2
D-x16

=

)







R
N\
7./

V/Z2\iwzassiyN

I.

Let’s Play




Let’s Play




11111
XXXXXX
_____

21

-}

s/ Qo w
- N — 7 7]

/ \ ==/

1\ .

| —— A

N

e

ol

\

\\ / \

Let’s Play



SINGLE SWING MOUNT @Rl

€050.017.00 @

22 - x1
23 -xl1
24 - x1
25 - x1
26 - x1
l-x2
J-x4
K-x2
F-x12

Let’s Play




27 - x2
28 - x1
29 - x1
31 - x1
I-x3
J-x6
K- x3
F - x4

28

\\1 B
Let’s Play

<




J-x8
K-x4
L-x4

Let’s Play




DOUBLE SWING MOUNT @nl

050.012.00 S~

.

22 -x1
23 -xl1
24 - x1
25 - x1
26 - x1
l-x2
J-x4
K- x2
F-x12

Let’s Play




27 - x4

28 - x1

30 -x1

31 -x1

1-x3

J-x6

K-x3 i J(@J/

F-x4 /é'}@/‘%l

Let’s Play




J-x8
K-x4
L-x4

Let’s Play




Let’s Play

|| I“a;lll“

A Pragma Brand

Sunny is one of our brands with
awesome products of great quality,
so let’s play!

Pragma / Sunny
Utrechtseweg 4G

3927 AV Renswoude
Netherlands
T:4+31(0)318-57 8800
info@pragma-trading.com
www.pragma-trading.com

Beach Tower Basic

717973931966

Article number / Artikelnummer / Artikelnummer /
Numéro darticle / Nimero de articulo / Codice articolo

C050.016.00

Beach Tower Single Swing

8l 717973][ 931973

Article number / Artikelnummer / Artikelnummer /
Numéro d'article / Nimero de articulo / Codice articolo

C050.017.00

Beach Tower Double Swing

8l 717973931980

Article number / Artikelnummer / Artikelnummer /
Numéro darticle / Nimero de articulo / Codice articolo

C050.018.00

161103KH



